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Ex. Y A fan blade rokates with anqular vebeity @y (£) = Y-g¢ °
wheee ¥ = 6,00 rad and {Q = 0,800 rad
s s3
a) a(t)=7 A(t) = d wol(t) = ~244 =|-1.20rad +
dt ! s3
b.> 0((3-°OS>=? 0((30053—"4/00!‘23 (30095— —-’—l&ggl
53
olyy = w(3.068) - w (0.00 s) - /2(//.%(35) (){—,8(0) )
(3.00 - 0.00)s 3.00 s
oAy, = ~0.600md (9s°) -0
s3 Ky (0236)= 2.4 rad
3,00 5 S2
Ex.2 A zdvertisement claims that 2 cenﬁ-n-&n:}akes Lp on\v

0. 12F m of bench Space .

Arxd—= Boooa S

W = 5,000 rey /2zr rzd\/fL::)nv\ = 523. 6 rzc{/s

min k rev/\ 605/

QArad = va_ K=38md = 3,000 (q-g'ﬂ/;') = 0.I0F m__

minimum diameter w* (523 b rad/s )2

=digmefer = 0.214 welers howe\/er the device Oh\q

OCc:uPnes O, 12F% m, The claim s NoT reali s-hc
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a.) Find the moment of J/rj

1 \ |
inertia with zn axis ! é : |
|
[
|

per?end?cu}ar ‘]*o ‘H’)e P‘anf’

through the point 0. | 47 |

d=0.200m {Z =6.283m "G —— — ©m
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EX.30 Centd . X
T 2
T=md +md +md + md "2
= m(qciz) = Ymd =4 (\p.zoolcj) (0.293m>
2
T = 0.06H [‘S'M
b )| Coleulste I if the mxis s 2leng AB_as shown in the
%fmre qure E"l 30 in my no¥es.
I = Zm d where A =0.200 m ¥For 2)l Y mxsses
I =Udpa®= L{(o zookq\[o 200»/\5 6.032 Icg:mz
e )| Calulete "

i the 2xis passes through the upper-le$
and \ou)er r\qM" Spheres e 2"0"4‘3 o. zookj

I-= Zma m(c\ +rf\{\02-83m\fm/o\1+- (o.ng;

I = 00032 kq'mz

Ex.4%

A -f'rsc‘)‘}on)eSS 'Du”ey hzs the 5h;}>€ /
of 2 uniform solid disk of mass

o

2,50 kg
/ \Puney
2,50 Vj and radins 20.0¢wm \\N\//
a.> How far musr the stone €21 so
'H')Z.)— K\‘)uﬂe.’/ = '-\.'SO :Y
//) L SO[ﬂ sione
Worl - Enerqu Theorem /m
qu = Kyullev L K:Jonez 1 .
2 ] N
mg\—} = —Z—Iw i-‘&‘:sv - ?(TMRZ)BPL{ + é—'mV
o /LR
mq% = :‘" MV + ’%.' my
J i
.56 J
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o¥d ‘_MV2= 4,50 J vz____ 4(4.503'3
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= 1.20 m"‘/g

V = 2,683 m/s

m

Qq
J

M=E (A_M‘i*m\ ‘(?20!:;/5)(!25-1—]50\‘:7

mg\n =940 T h=9%0 3 =340 7

= 0,613 m

™3 (L50kg)2.8m)s>

b.)

What percenty of the tota) K\: does

G—a :5‘10“ = Kpu“ﬁu = Tl'— Mg ﬁ-— = 2 M
K?ullgy+ K‘f}aﬁe‘ _;_%/‘;’(Z-L.M*'m') (“EM.’-N"Y
‘PI"&C'HOV) = %(Z'SO l‘j) = O.455 or 45,57,
'?(2.50 ki)i—(l.sokj)
m— x—__\
Ex.53 A thin, Fec'\’ancju]ar sheel” of meYa) has mass M
1fcvn
-E IQL N\a 2\ I/T\ - L >
I"lzN\(a+b>“‘M<H +l:l— / | //
~ d/- /a
- r ____
L= M \?- +-) b(m- 43 I

/3

H

—

= M(2° +\:)
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Ex.5¢ || Use I=Sr‘z dm to caleulzte the moment of inertiz of z
slender, uniform rod of mass M and lerg;‘{’H'\ L...

Axls —5 dx
A = x*dm y I it
/ {
I= SdI = \\Xz dm =0 s il ¥=¥[L
J J . ,
le |
R =
Where )\ = linear mass clensrl-v
2] ='9/m ]
dm =X dx I_kg/m] [m] {kj]
15 \
3\ 3
T=(x"am = (g =x{xdx=2 x*| = L
) J ) =, /3
Q[Lew'lseJ M= gc\m = )_de = Ax = AL The:,e.&:rtj A=M
o L.
A .
3
I'-"- M/L L I =1 N\L2 Same z5 shown in Fig. 4
3 3 . S
n_my noYes .
Prob. 72 The Pu”ey has a rzdius K " —d —» ~
_and a2 moment of Tnertiz T, e ——
and spins on a frictionless axle. He

Use enerqy methods to -

| Adem‘m@ﬁ(.é) . _ mg

V=0

Il

o)<

— /

J
mpqd M:mgd—»z(mnma)v +3 Tw® R

V= 2qd f mLﬂth) V=, fgﬂd(mg'ﬂzan
m, + mg +I/p* V m, *‘mj*I/Rz




